

Initial Bounds for a Subclass of Analytic and Bi-Univalent Functions Defined by Chebyshev Polynomials and q -Differential Operator

Dong GUO^{1,*}, En AO², Huo TANG², Liangpeng XIONG³

1. *Foundation Department, Chuzhou Vocational and Technical College, Anhui 239000, P. R. China;*
2. *School of Mathematics and Statistics, Chifeng University, Inner Mongolia 024000, P. R. China;*
3. *School of Mathematics and Statistics, Wuhan University, Hubei 430072, P. R. China*

Abstract In this paper, we investigate the coefficient estimate and Fekete-Szegő inequality of a subclass of analytic and bi-univalent functions defined by Chebyshev polynomials and q -differential operator. The results presented in this paper improve or generalize the recent works of other authors.

Keywords analytic functions; bi-univalent functions; coefficient estimates; Fekete-Szegő inequality; Chebyshev polynomials; q -differential operator

MR(2010) Subject Classification 30C45; 30C50

1. Introduction

Let $\mathcal{R} = (-\infty, +\infty)$ be the set of real numbers, $\mathcal{N} := \{1, 2, 3, \dots\} = \mathcal{N}_0 \setminus \{0\}$ be the set of positive integers.

Let \mathcal{A} denote the class of functions of the form:

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (1.1)$$

which are analytic in the open unit disk $\mathcal{U} = \{z : |z| < 1\}$. Further, by \mathcal{S} we denote the family of all functions in \mathcal{A} which are univalent in \mathcal{U} .

It is well known that every function $f \in \mathcal{S}$ has an inverse f^{-1} , which is defined by

$$f^{-1}(f(z)) = z, \quad z \in \mathcal{U}$$

and

$$f(f^{-1}(\omega)) = \omega, \quad |\omega| < r_0(f), r_0(f) \geq \frac{1}{4}.$$

Received October 15, 2018; Accepted May 22, 2019

Supported by the National Natural Science Foundation of China (Grant Nos. 11561001; 11271045), the Program for Young Talents of Science and Technology in Universities of Inner Mongolia Autonomous Region (Grant No. NJYT-18-A14), the Nature Science Foundation of Inner Mongolia of China (Grant No. 2018MS01026), the Higher School Foundation of Inner Mongolia of China (Grant No. NJZY19211) and the Natural Science Foundation of Anhui Provincial Department of Education (Grant Nos. KJ2018A0833; KJ2018A0839), Provincial Quality Engineering Project of Anhui Colleges and Universities (Grant Nos. 2018mooc608).

* Corresponding author

E-mail address: gd791217@163.com (Dong GUO)

The inverse function $g = f^{-1}$ is given by

$$f^{-1}(\omega) = \omega - a_2\omega^2 + (2a_2^2 - a_3)\omega^3 - (5a_2^3 - 5a_2a_3 + a_4)\omega^4 + \dots \tag{1.2}$$

A function $f \in \mathcal{A}$ is said to be bi-univalent in \mathcal{U} if both f and f^{-1} are univalent in \mathcal{U} . Let Σ denote the class of all bi-univalent functions in \mathcal{U} given by (1.1). The class of bi-univalent functions was first introduced and studied by Lewin [1] and was showed that $|a_2| < 1.51$. Brannan and Clunie [2] improved Lewin's results to $|a_2| \leq \sqrt{2}$ and later Netanyahu [3] proved that $\max|a_2| = 4/3$. Recently, many authors investigated bounds for various subclasses of bi-univalent functions [4–12].

Nowadays, area of q -calculus has attracted the attention of researchers. Ismail et al. [13] first introduced the class of generalized complex functions via q -calculus on some subclasses of analytic functions. Recently many newsworthy results related to bi-univalent and q -calculus are studied by various authors [4, 14, 15].

Kamble et al. [4] defined Sălăgean q -differential operator [16] using q -differential operator as follows:

$$D_q^n f(z) = z + \sum_{k=2}^{\infty} [k]_q^n a_k z^k, \quad n \in \mathcal{N}_0, \quad z \in \mathcal{U}. \tag{1.3}$$

We note that $q \rightarrow 1^-$,

$$D^n f(z) = z + \sum_{k=2}^{\infty} k^n a_k z^k, \quad n \in \mathcal{N}_0, \quad z \in \mathcal{U}. \tag{1.4}$$

The Chebyshev polynomials are a sequence of orthogonal polynomials that are related to De Moivre's formula and which can be defined recursively. They have abundant properties, which make them useful in many areas in applied mathematics, numerical analysis and approximation theory. There are four kinds of Chebyshev polynomials, see for details Doha [17] and Mason [18]. The Chebyshev polynomials of degree n of the second kind, which are denoted $U_n(t)$, are defined for $t \in [-1, 1]$ by the following three-terms recurrence relation:

$$U_0(t) = 1, U_1(t) = 2t, U_{n+1}(t) := 2tU_n(t) - U_{n-1}(t).$$

The first few of the Chebyshev polynomials of the second kind are

$$U_1(t) = 2t, U_2(t) = 4t^2 - 1, U_3(t) = 8t^3 - 4t, U_4(t) = 16t^4 - 12t^2 + 1, \dots \tag{1.5}$$

The generating function for the Chebyshev polynomials of the second kind, $U_n(t)$ is given by:

$$H(z, t) = \frac{1}{1 - 2tz + z^2} = \sum_{n=0}^{\infty} U_n(t)z^n, \quad z \in \mathcal{U}.$$

Using q -differential operator and Chebyshev polynomials, we define the following new subclass.

Definition 1.1 For $\lambda \geq 1, \mu \geq 0, 0 < q < 1, n \in \mathcal{N}_0$ and $t \in (1/2, 1)$, a function $f \in \Sigma$ given by (1.1) is said to be in the class $\mathcal{B}_{\Sigma}^{q, \mu}(n, \lambda, t)$ if the following subordinations hold for all $z, \omega \in \mathcal{U}$:

$$(1 - \lambda)\left(\frac{D_q^n f(z)}{z}\right)^{\mu} + \lambda(D_q^n f(z))'\left(\frac{D_q^n f(z)}{z}\right)^{\mu-1} \prec H(z, t) := \frac{1}{1 - 2tz + z^2}$$

and

$$(1 - \lambda)\left(\frac{D_q^n g(\omega)}{\omega}\right)^\mu + \lambda(D_q^n g(\omega))'\left(\frac{D_q^n g(\omega)}{\omega}\right)^{\mu-1} \prec H(\omega, t) := \frac{1}{1 - 2t\omega + \omega^2},$$

where the function $g = f^{-1}$ is given by (1.2).

The following special cases of Definition 1.1 are worthy of note:

(1) For $0 < q < 1, n \in \mathcal{N}_0$ and $t \in (1/2, 1)$, a function $f \in \Sigma$ given by (1.1) is said to be in the class $\mathcal{B}_\Sigma^{q,1}(n, 1, t) = \mathcal{B}_\Sigma^q(n, t)$ if the following subordinations hold for all $z, \omega \in \mathcal{U}$:

$$(D_q^n f(z))' \prec H(z, t) := \frac{1}{1 - 2tz + z^2}$$

and

$$(D_q^n g(\omega))' \prec H(\omega, t) := \frac{1}{1 - 2t\omega + \omega^2},$$

where the function $g = f^{-1}$ is given by (1.2).

Remark 1.2 For $n = 0$ and $q \rightarrow 1^-$ in $\mathcal{B}_\Sigma^q(n, t)$, the class $\mathcal{B}_\Sigma^q(n, t)$ reduces to $\mathcal{B}_\Sigma(t)$ studied by Altinkaya and Yalçin [7].

(2) For $\lambda \geq 1, 0 < q < 1, n \in \mathcal{N}_0$ and $t \in (1/2, 1)$, a function $f \in \Sigma$ given by (1.1) is said to be in the class $\mathcal{B}_\Sigma^{q,1}(n, \lambda, t) = \mathcal{B}_\Sigma^q(n, \lambda, t)$ if the following subordinations hold for all $z, \omega \in \mathcal{U}$:

$$(1 - \lambda)\frac{D_q^n f(z)}{z} + \lambda(D_q^n f(z))' \prec H(z, t) := \frac{1}{1 - 2tz + z^2}$$

and

$$(1 - \lambda)\frac{D_q^n g(\omega)}{\omega} + \lambda(D_q^n g(\omega))' \prec H(\omega, t) := \frac{1}{1 - 2t\omega + \omega^2},$$

where the function $g = f^{-1}$ is given by (1.2).

Remark 1.3 For $n = 0$ and $q \rightarrow 1^-$ in $\mathcal{B}_\Sigma^q(n, \lambda, t)$, the class $\mathcal{B}_\Sigma^q(n, \lambda, t)$ reduces to $\mathcal{B}_\Sigma(\lambda, t)$ studied by Bulut and Magesh [8].

(3) For $\mu \geq 0, 0 < q < 1, n \in \mathcal{N}_0$ and $t \in (1/2, 1)$, a function $f \in \Sigma$ given by (1.1) is said to be in the class $\mathcal{B}_\Sigma^{q,\mu}(n, t)$ if the following subordinations hold for all $z, \omega \in \mathcal{U}$:

$$(D_q^n f(z))'\left(\frac{D_q^n f(z)}{z}\right)^{\mu-1} \prec H(z, t) := \frac{1}{1 - 2tz + z^2}$$

and

$$(D_q^n g(\omega))'\left(\frac{D_q^n g(\omega)}{\omega}\right)^{\mu-1} \prec H(\omega, t) := \frac{1}{1 - 2t\omega + \omega^2},$$

where the function $g = f^{-1}$ is given by (1.2).

Remark 1.4 (i) For $n = \mu = 0$ and $q \rightarrow 1^-$ in $\mathcal{B}_\Sigma^{q,\mu}(n, t)$, the class $\mathcal{B}_\Sigma^{q,\mu}(n, t)$ reduces to $\mathcal{S}_\Sigma^*(t)$ studied by Magesh and Bulut [9].

(ii) For $n = 0$ and $q \rightarrow 1^-$ in $\mathcal{B}_\Sigma^{q,\mu}(n, t)$, the class $\mathcal{B}_\Sigma^{q,\mu}(n, t)$ reduces to $\mathcal{B}_\Sigma^\mu(t)$ studied by Altinkaya and Yaçin [10].

We note that $n = \lambda = 1, \mu = 0$ and $q \rightarrow 1^-$, the class $\mathcal{B}_\Sigma^{q,\mu}(n, \lambda, t)$ reduces to $\mathcal{K}_\Sigma(t)$ studied by Murugusundaramoorthy et al. ([5], also see [11]).

(4) For $t \in (1/2, 1)$, a function $f \in \Sigma$ given by (1.1) is said to be in the class $\mathcal{K}_\Sigma(t)$ if the following subordinations hold for all $z, \omega \in \mathcal{U}$:

$$1 + \frac{zf''(z)}{f'(z)} \prec H(z, t) := \frac{1}{1 - 2tz + z^2}$$

and

$$1 + \frac{\omega g''(\omega)}{g'(\omega)} \prec H(\omega, t) := \frac{1}{1 - 2t\omega + \omega^2},$$

where the function $g = f^{-1}$ is given by (1.2).

For $n = \mu = 1$ and $q \rightarrow 1^-$, the class $\mathcal{B}_\Sigma^{q,\mu}(n, t)$ reduces to the following subclass of Σ .

(5) For $\lambda \geq 1$ and $t \in (1/2, 1)$, a function $f \in \Sigma$ given by (1.1) is said to be in the class $\mathcal{L}_\Sigma(\lambda, t)$, if the following subordinations hold for all $z, \omega \in \mathcal{U}$:

$$f'(z) + \lambda z f''(z) \prec H(z, t) := \frac{1}{1 - 2tz + z^2}$$

and

$$g'(\omega) + \lambda \omega g''(\omega) \prec H(\omega, t) := \frac{1}{1 - 2t\omega + \omega^2},$$

where the function $g = f^{-1}$ is given by (1.2).

Remark 1.5 For $\lambda = 1$, the class $\mathcal{L}_\Sigma(\lambda, t)$ reduces to the class $\mathcal{L}_\Sigma(t)$ studied by Murugusundaramoorthy et al. [11].

(6) For $\lambda \geq 1, \mu \geq 0, 0 < q < 1, n \in \mathcal{N}_0$ and $t \in (1/2, 1)$, a function $f \in \Sigma$ given by (1.1) is said to be in the class $\mathcal{B}_\Sigma^\mu(\lambda, t)$, if the following subordinations hold for all $z, \omega \in \mathcal{U}$:

$$(1 - \lambda) \left(\frac{f(z)}{z}\right)^\mu + \lambda (f(z))' \left(\frac{f(z)}{z}\right)^{\mu-1} \prec H(z, t) := \frac{1}{1 - 2tz + z^2}$$

and

$$(1 - \lambda) \left(\frac{g(\omega)}{\omega}\right)^\mu + \lambda (g(\omega))' \left(\frac{g(\omega)}{\omega}\right)^{\mu-1} \prec H(\omega, t) := \frac{1}{1 - 2t\omega + \omega^2},$$

where the function $g = f^{-1}$ is given by (1.2).

Remark 1.6 (i) In [12], Bulut et al. investigate the estimates of $|a_2|$ and $|a_3|$ and get Fekete-szegő inequalities of the class $\mathcal{B}_\Sigma^\mu(\lambda, t)$.

(ii) Orhan et al. [6] obtained an upper bound estimate for the second Hankel determinant of the subclass $\mathcal{B}_\Sigma^\mu(\lambda, t)$ of analytic bi-univalent function.

In order to derive our main results, we shall need the following lemma.

Lemma 1.7 ([19]) *Let $u(z)$ be an analytic function with $u(0) = 0, |u(z)| < 1$ and let*

$$u(z) = c_1 z + c_2 z^2 + \dots, \quad z \in \mathcal{U}.$$

Then $|c_1| \leq 1$ and $|c_n| \leq 1 - |c_1|^2$ ($n \geq 2$).

2. Coefficient estimates

In this section, we give our main results.

Theorem 2.1 Let $f(z)$ given by (1.1) be in the class $\mathcal{B}_{\Sigma}^{q,\mu}(n, \lambda, t)$. Then

$$|a_2| \leq \min\left\{\frac{2t}{(\mu + \lambda)[2]_q^n}, \sqrt{\frac{8t^2 + 4t - 2}{(\mu + 2\lambda)|2[3]_q^n + (\mu - 1)[2]_q^{2n}}}, \Omega_1\right\}, \tag{2.1}$$

$$|a_3| \leq \begin{cases} \frac{2t}{(\mu+2\lambda)[3]_q^n}, & t \leq \frac{(\lambda+\mu)^2[2]_q^{2n}}{2(\mu+2\lambda)[3]_q^n}, \\ \min\left\{\frac{4t^2}{(\mu+\lambda)^2[2]_q^{2n}}, \Omega_2, \Omega_3\right\}, & t > \frac{(\lambda+\mu)^2[2]_q^{2n}}{2(\mu+2\lambda)[3]_q^n}, \end{cases} \tag{2.2}$$

where

$$\Omega_1 = \frac{2t\sqrt{2t}}{\sqrt{|(2[3]_q^n + (\mu - 1)[2]_q^{2n})(\mu + 2\lambda)2t^2 - (4t^2 - 1)(\mu + \lambda)^2[2]_q^{2n}| + 2t(\mu + \lambda)^2[2]_q^{2n}}},$$

$$\Omega_2 = \left(1 - \frac{(\lambda + \mu)^2[2]_q^{2n}}{2t(\mu + 2\lambda)[3]_q^n}\right) \times \frac{8t^2 + 4t - 2}{(\mu + 2\lambda)|2[3]_q^n + (\mu - 1)[2]_q^{2n}|} + \frac{2t}{(\mu + 2\lambda)[3]_q^n},$$

$$\Omega_3 = \left(1 - \frac{(\lambda + \mu)^2[2]_q^{2n}}{2t(\mu + 2\lambda)[3]_q^n}\right) \times \frac{8t^3}{|(2[3]_q^n + (\mu - 1)[2]_q^{2n})(\mu + 2\lambda)2t^2 - (4t^2 - 1)(\mu + \lambda)^2[2]_q^{2n}| + 2t(\mu + \lambda)^2[2]_q^{2n}} + \frac{2t}{(\mu + 2\lambda)[3]_q^n}.$$

Proof Let $f \in \mathcal{B}_{\Sigma}^{q,\mu}(n, \lambda, t)$ and $g = f^{-1}$. Then there are analytic functions $u, v : U \rightarrow U$, with $u(0) = v(0) = 0$ satisfying

$$(1 - \lambda)\left(\frac{D_q^n f(z)}{z}\right)^\mu + \lambda(D_q^n f(z))'\left(\frac{D_q^n f(z)}{z}\right)^{\mu-1} = 1 + U_1(t)u(z) + U_2(t)u^2(z) + \dots, \tag{2.3}$$

$$(1 - \lambda)\left(\frac{D_q^n g(\omega)}{\omega}\right)^\mu + \lambda(D_q^n g(\omega))'\left(\frac{D_q^n g(\omega)}{\omega}\right)^{\mu-1} = 1 + U_1(t)v(\omega) + U_2(t)v^2(\omega) + \dots. \tag{2.4}$$

By definition of the functions $u(z)$ and $v(\omega)$

$$u(z) = c_1z + c_2z^2 + c_3z^3 \dots, \tag{2.5}$$

$$v(\omega) = d_1\omega + d_2\omega^2 + d_3\omega^3 \dots. \tag{2.6}$$

From (2.3)–(2.6), we get

$$(1 - \lambda)\left(\frac{D_q^n f(z)}{z}\right)^\mu + \lambda(D_q^n f(z))'\left(\frac{D_q^n f(z)}{z}\right)^{\mu-1} = 1 + U_1(t)c_1z + [U_1(t)c_2 + U_2(t)c_1^2]z^2 + \dots \tag{2.7}$$

and

$$(1 - \lambda)\left(\frac{D_q^n g(\omega)}{\omega}\right)^\mu + \lambda(D_q^n g(\omega))'\left(\frac{D_q^n g(\omega)}{\omega}\right)^{\mu-1} = 1 + U_1(t)d_1\omega + [U_1(t)d_2 + U_2(t)d_1^2]\omega^2 + \dots. \tag{2.8}$$

Equating the coefficients in (2.7) and (2.8), we have

$$(\lambda + \mu)[2]_q^n a_2 = U_1(t)c_1, \tag{2.9}$$

$$(\mu - 1)\left(\lambda + \frac{\mu}{2}\right)[2]_q^{2n} a_2^2 + (\mu + 2\lambda)[3]_q^n a_3 = U_1(t)c_2 + U_2(t)c_1^2, \tag{2.10}$$

$$-(\lambda + \mu)[2]_q^n a_2 = U_1(t)d_1, \tag{2.11}$$

$$-(\mu + 2\lambda)[3]_q^n a_3 + (4[3]_q^n + (\mu - 1)[2]_q^{2n})\left(\lambda + \frac{\mu}{2}\right)a_2^2 = U_1(t)d_2 + U_2(t)d_1^2. \tag{2.12}$$

From (2.9) and (2.11), we obtain

$$c_1 = -d_1, \tag{2.13}$$

$$a_2^2 = \frac{U_1^2(t)(c_1^2 + d_1^2)}{2(\mu + \lambda)^2[2]_q^{2n}}. \tag{2.14}$$

Applying Lemma 1.7 and (1.5), we have

$$|a_2| \leq \frac{2t}{(\mu + \lambda)[2]_q^n}. \tag{2.15}$$

Adding (2.10) and (2.12), we get

$$(2[3]_q^n + (\mu - 1)[2]_q^{2n})(\mu + 2\lambda)a_2^2 = U_1(t)(c_2 + d_2) + U_2(t)(c_1^2 + d_1^2). \tag{2.16}$$

Using Lemma 1.7 for the coefficients c_1, c_2, d_1 and d_2 , we get

$$|a_2| \leq \sqrt{\frac{8t^2 + 4t - 2}{(\mu + 2\lambda)|2[3]_q^n + (\mu - 1)[2]_q^{2n}|}}. \tag{2.17}$$

Substituting (2.13) and (2.14) into (2.16), we obtain

$$c_1^2 = \frac{U_1(t)(\mu + \lambda)^2[2]_q^{2n}(c_2 + d_2)}{(2[3]_q^n + (\mu - 1)[2]_q^{2n})(\mu + 2\lambda)U_1^2(t) - 2U_2(t)(\mu + \lambda)^2[2]_q^{2n}}. \tag{2.18}$$

Applying (2.13) and (2.18) in (2.14), we get

$$a_2^2 = \frac{U_1^3(t)(c_2 + d_2)}{(2[3]_q^n + (\mu - 1)[2]_q^{2n})(\mu + 2\lambda)U_1^2(t) - 2U_2(t)(\mu + \lambda)^2[2]_q^{2n}}. \tag{2.19}$$

Then, in view of Lemma 1.7 and (2.9), we have

$$|a_2| \leq \frac{2t\sqrt{2t}}{\sqrt{|(2[3]_q^n + (\mu - 1)[2]_q^{2n})(\mu + 2\lambda)2t^2 - (4t^2 - 1)(\mu + \lambda)^2[2]_q^{2n}| + 2t(\mu + \lambda)^2[2]_q^{2n}}}}. \tag{2.20}$$

Therefore, from (2.15), (2.17) and (2.20), we get assertion (2.1).

By subtracting (2.12) from (2.10), we have

$$2(\mu + 2\lambda)[3]_q^n a_3 - 2(\mu + 2\lambda)[3]_q^n a_2^2 = U_1(t)(c_2 - d_2) + U_2(t)(c_1^2 - d_1^2).$$

Further, in view of (2.13), we get

$$a_3 = a_2^2 + \frac{U_1(t)(c_2 - d_2)}{2(\mu + 2\lambda)[3]_q^n}.$$

Then, in view of (1.5), (2.9) and (2.13), applying Lemma 1.7 for the coefficients c_2 and d_2 , we get

$$\begin{aligned} |a_3| &\leq |a_2|^2 + \frac{t}{(\mu + 2\lambda)[3]_q^n}(|c_2| + |d_2|) \leq |a_2|^2 + \frac{2t}{(\mu + 2\lambda)[3]_q^n}(1 - |c_1|^2) \\ &\leq \left(1 - \frac{(\lambda + \mu)^2[2]_q^{2n}}{2t(\mu + 2\lambda)[3]_q^n}\right)|a_2|^2 + \frac{2t}{(\mu + 2\lambda)[3]_q^n}. \end{aligned} \tag{2.21}$$

Hence, from (2.15), (2.17), (2.20) and (2.21), we get assertion (2.2).

Thus, this completes the proof of Theorem 2.1. \square

Now, we are ready to find the sharp bounds of Fekete-Szegő functional $|a_3 - \eta a_2^2|$ defined for $\mathcal{B}_\Sigma^{q,\mu}(n, \lambda, t)$.

Theorem 2.2 *Let $f(z)$ given by (1.1) be in the class $\mathcal{B}_\Sigma^{q,\mu}(n, \lambda, t)$ and $\eta \in \mathcal{R}$. Then*

$$|a_3 - \eta a_2^2| \leq \begin{cases} \frac{2t}{(\mu+2\lambda)[3]_q^n}, & 0 \leq |h(\eta)| \leq \frac{1}{2(\mu+2\lambda)[3]_q^n}, \\ \frac{8|1-\eta|t^3}{|(2[3]_q^n+(\mu-1)[2]_q^{2n})(\mu+2\lambda)2t^2-(4t^2-1)(\mu+\lambda)^2[2]_q^{2n}|}, & |h(\eta)| \geq \frac{1}{2(\mu+2\lambda)[3]_q^n}, \end{cases}$$

where

$$h(\eta) = \frac{2(1-\eta)t^2}{(2[3]_q^n + (\mu - 1)[2]_q^{2n})(\mu + 2\lambda)2t^2 - (4t^2 - 1)(\mu + \lambda)^2[2]_q^{2n}}.$$

Proof By using the equalities (2.19) and (2.21), we have

$$a_3 - \eta a_2^2 = U_1(t)[(h(\eta) + \frac{1}{2(\mu + 2\lambda)[3]_q^n})c_2 + (h(\eta) - \frac{1}{2(\mu + 2\lambda)[3]_q^n})d_2],$$

where

$$h(\eta) = \frac{(1-\eta)U_1^2(t)}{(2[3]_q^n + (\mu - 1)[2]_q^{2n})(\mu + 2\lambda)U_1^2(t) - 2U_2(t)(\mu + \lambda)^2[2]_q^{2n}}.$$

So, we conclude that

$$|a_3 - \eta a_2^2| \leq \begin{cases} \frac{2t}{(\mu+2\lambda)[3]_q^n}, & 0 \leq |h(\eta)| \leq \frac{1}{2(\mu+2\lambda)[3]_q^n}, \\ 4|h(\eta)|t, & |h(\eta)| \geq \frac{1}{2(\mu+2\lambda)[3]_q^n}, \end{cases}$$

which completes the proof. \square

3. Corollaries and consequences

Now, we would like to draw attention to some remarkable results obtained for some values of q, μ, n, λ and t in Theorems 2.1 and 2.2.

Setting $\mu = \lambda = 1, n = 0$ and $q \rightarrow 1^-$ in Theorem 2.1, we have the following corollary.

Corollary 3.1 *Let $f(z)$ given by (1.1) be in the class $\mathcal{B}_\Sigma(t)$. Then*

$$|a_2| \leq \min\left\{t, \sqrt{\frac{4t^2 + 2t - 1}{3}}, \frac{t\sqrt{2t}}{\sqrt{1 - t^2 + 2t}}\right\} = \frac{t\sqrt{2t}}{\sqrt{1 - t^2 + 2t}},$$

$$|a_3| \leq \begin{cases} \frac{2t}{3}, & \frac{1}{2} < t \leq \frac{2}{3}, \\ (1 - \frac{2}{3t})\frac{2t^3}{1-t^2+2t} + \frac{2t}{3}, & \frac{2}{3} < t < 1. \end{cases}$$

Remark 3.2 The estimates for $|a_2|$ and $|a_3|$ given by Corollary 3.1 improve the estimates given by Altinkaya and Yalç in [7, Corollary 8].

Setting $\mu = 1, n = 0$ and $q \rightarrow 1^-$ in Theorem 2.1, we have the following corollary.

Corollary 3.3 *Let $f(z)$ given by (1.1) be in the class $\mathcal{B}_\Sigma(\lambda, t)$. Then*

$$|a_2| \leq \min\left\{\frac{2t}{1+\lambda}, \sqrt{\frac{4t^2 + 2t - 1}{1 + 2\lambda}}, \frac{2t\sqrt{2t}}{\sqrt{|(1+\lambda)^2 - 4t^2\lambda^2| + 2t(1+\lambda)^2}}\right\},$$

$$|a_3| \leq \begin{cases} \frac{2t}{1+2\lambda}, & \frac{1}{2} < t \leq \frac{(1+\lambda)^2}{2(1+2\lambda)}, \\ \min\left\{\frac{4t^2}{(1+\lambda)^2}, \left(1 - \frac{(1+\lambda)^2}{2t(1+2\lambda)}\right)\frac{4t^2+2t-1}{1+2\lambda} + \frac{2t}{1+2\lambda}, \Omega_3\right\}, & \frac{(1+\lambda)^2}{2(1+2\lambda)} < t < 1, \end{cases}$$

where

$$\Omega_3 = \left(1 - \frac{(1+\lambda)^2}{2t(1+2\lambda)}\right) \times \frac{8t^3}{|(1+\lambda)^2 - 4t^2\lambda^2| + 2t(1+\lambda)^2} + \frac{2t}{1+2\lambda}.$$

Remark 3.4 The estimates of the coefficients $|a_2|$ and $|a_3|$ of Corollary 3.3 are the improvement of the estimates obtained in [8, Theorem 1].

Setting $\mu = n = 0$, $\lambda = 1$ and $q \rightarrow 1^-$ in Theorem 2.1, we have the following corollary.

Corollary 3.5 Let $f(z)$ given by (1.1) be in the class $\mathcal{S}_\Sigma^*(t)$. Then

$$|a_2| \leq \min\left\{2t, \sqrt{4t^2 + 2t - 1}, \frac{2t\sqrt{2t}}{\sqrt{1+2t}}\right\} = \frac{2t\sqrt{2t}}{\sqrt{1+2t}},$$

$$|a_3| \leq \min\left\{4t^2, \left(1 - \frac{1}{4t}\right)(4t^2 + 2t - 1) + t, \left(1 - \frac{1}{4t}\right)\frac{8t^3}{1+2t} + t\right\} = \left(1 - \frac{1}{4t}\right)\frac{8t^3}{1+2t} + t.$$

Remark 3.6 Corollary 3.5 provides an improvement of the estimates for $|a_2|$ and $|a_3|$ obtained by Magesh and Bulut [9, Corollary 2].

Setting $n = \mu = 1$ and $q \rightarrow 1^-$, the Theorem 2.1 reduces to the following corollary.

Corollary 3.7 Let $f(z)$ given by (1.1) be in the class $\mathcal{L}_\Sigma(\lambda, t)$. Then

$$|a_2| \leq \min\left\{\frac{t}{1+\lambda}, \sqrt{\frac{4t^2 + 2t - 1}{3(1+2\lambda)}}, \frac{t\sqrt{2t}}{\sqrt{|3(1+2\lambda)t^2 - (4t^2 - 1)(1+\lambda)^2| + 2t(1+\lambda)^2}}\right\},$$

$$|a_3| \leq \begin{cases} \frac{2t}{3(1+2\lambda)}, & t \leq \frac{2(1+\lambda)^2}{3(1+2\lambda)}, \\ \min\left\{\frac{t^2}{(1+\lambda)^2}, \left(1 - \frac{2(1+\lambda)^2}{3t(1+2\lambda)}\right) \times \frac{4t^2 + 2t - 1}{3(1+2\lambda)} + \frac{2t}{3(1+2\lambda)}, \Omega_1\right\}, & t > \frac{2(1+\lambda)^2}{3(1+2\lambda)}, \end{cases}$$

where

$$\Omega_1 = \left(1 - \frac{2(1+\lambda)^2}{3t(1+2\lambda)}\right) \times \frac{2t^3}{|3(1+2\lambda)t^2 - (4t^2 - 1)(1+\lambda)^2| + 2t(1+\lambda)^2} + \frac{2t}{3(1+2\lambda)}.$$

Setting $n = \mu = \lambda = 1$ and $q \rightarrow 1^-$, the Theorem 2.1 reduces to the following corollary.

Corollary 3.8 Let $f(z)$ given by (1.1) be in the class $\mathcal{L}_\Sigma(t)$. Then

$$|a_2| \leq \min\left\{\frac{t}{2}, \sqrt{\frac{4t^2 + 2t - 1}{9}}, \frac{t\sqrt{2t}}{\sqrt{|-7t^2 + 4| + 8t}}\right\} = \frac{t\sqrt{2t}}{\sqrt{7t^2 + 8t - 4}},$$

$$|a_3| \leq \begin{cases} \frac{2t}{9}, & t \leq \frac{8}{9}, \\ \frac{32t^3 - 8t}{9(7t^2 + 8t - 4)}, & t > \frac{8}{9}. \end{cases}$$

Remark 3.9 The estimates for $|a_2|$ and $|a_3|$ given by Corollary 3.8 are more accurate than the bounds given by Corollary 5.5 in Murugusundaramoorthy et al. [11].

Setting $n = \lambda = 1$, $\mu = 0$ and $q \rightarrow 1^-$ in Theorem 1, the Theorem 1 reduces to the following corollary.

Corollary 3.10 For $t \in (\frac{\sqrt{2}}{2}, 1)$, let $f(z)$ given by (1.1) be in the class $\mathcal{K}_\Sigma(t)$. Then

$$|a_2| \leq \min\left\{t, \sqrt{\frac{4t^2 + 2t - 1}{2}}, \frac{t\sqrt{2t}}{\sqrt{2t^2 + 2t - 1}}\right\} = \frac{t\sqrt{2t}}{\sqrt{2t^2 + 2t - 1}},$$

$$|a_3| \leq \min\left\{t^2, \left(1 - \frac{1}{3t}\right)\frac{4t^2 + 2t - 1}{2} + \frac{t}{3}, \left(1 - \frac{1}{3t}\right)\frac{2t^3}{2t^2 + 2t - 1} + \frac{t}{3}\right\} = \left(1 - \frac{1}{3t}\right)\frac{2t^3}{2t^2 + 2t - 1} + \frac{t}{3}.$$

Remark 3.11 The estimates for $|a_2|$ and $|a_3|$ given by Corollary 3.10 are smaller than the improvement of the estimates obtained in [11, Corollary 5.4].

Setting $n = 0$ and $q \rightarrow 1^-$ in Theorem 2.1, we have the following corollary.

Corollary 3.12 Let $f(z)$ given by (1.1) be in the class $\mathcal{B}_\Sigma^\mu(\lambda, t)$. Then

$$|a_2| \leq \min\left\{\frac{2t}{\mu + \lambda}, \sqrt{\frac{8t^2 + 4t - 2}{(\mu + 2\lambda)(\mu + 1)}}, \Omega_1\right\},$$

$$|a_3| \leq \begin{cases} \frac{2t}{\mu + 2\lambda}, & t \leq \frac{(\lambda + \mu)^2}{2(\mu + 2\lambda)}, \\ \min\left\{\frac{4t^2}{(\mu + \lambda)^2}, \Omega_2, \Omega_3\right\}, & t > \frac{(\lambda + \mu)^2}{2(\mu + 2\lambda)}, \end{cases}$$

where

$$\Omega_1 = \frac{2t\sqrt{2t}}{\sqrt{|2(\mu + 2\lambda)(\mu + 1)t^2 - (4t^2 - 1)(\mu + \lambda)| + 2t(\mu + \lambda)^2}},$$

$$\Omega_2 = \left(1 - \frac{(\lambda + \mu)^2}{2t(\mu + 2\lambda)}\right) \times \frac{8t^2 + 4t - 2}{(\mu + 2\lambda)(\mu + 1)} + \frac{2t}{(\mu + 2\lambda)},$$

$$\Omega_3 = \left(1 - \frac{(\lambda + \mu)^2}{2t(\mu + 2\lambda)}\right) \times \frac{8t^3}{|2(\mu + 2\lambda)(\mu + 1)t^2 - (4t^2 - 1)(\mu + \lambda)| + 2t(\mu + \lambda)^2} + \frac{2t}{(\mu + 2\lambda)}.$$

Remark 3.13 Corollary 3.12 provides an improvement of the estimates for $|a_2|$ and $|a_3|$ obtained by Bulut et al. [12, Theorem 1]

Setting $\eta = 0$ in Theorem 2.2, we get the following corollary.

Corollary 3.14 Let $f(z)$ given by (1.1) be in the class $\mathcal{B}_\Sigma^{q,\mu}(n, \lambda, t)$. Then

$$|a_3 - a_2^2| \leq \frac{2t}{(\mu + 2\lambda)[3]_q^n}.$$

Setting $\mu = \lambda = 1, n = 0$ and $q \rightarrow 1^-$ in Theorem 2.2, we have the following corollary.

Corollary 3.15 ([8]) Let $f(z)$ given by (1.1) be in the class $\mathcal{B}_\Sigma(t)$ and $\eta \in \mathcal{R}$. Then

$$|a_3 - \eta a_2^2| \leq \begin{cases} \frac{2t}{3}, & |1 - \eta| \leq \frac{1-t^2}{3t^2}, \\ \frac{2|1-\eta|t^3}{1-t^2}, & |1 - \eta| \geq \frac{1-t^2}{3t^2}. \end{cases}$$

Setting $\mu = 1, n = 0$ and $q \rightarrow 1^-$ in Theorem 2.2, we have the following corollary.

Corollary 3.16 ([8]) Let $f(z)$ given by (1.1) be in the class $\mathcal{B}_\Sigma(\lambda, t)$ and $\eta \in \mathcal{R}$. Then

$$|a_3 - \eta a_2^2| \leq \begin{cases} \frac{2t}{1+2\lambda}, & |1 - \eta| \leq \frac{|(1+\lambda)^2 - 4t^2\lambda^2|}{4(1+2\lambda)t^2}, \\ \frac{8|1-\eta|t^3}{|(1+\lambda)^2 - 4t^2\lambda^2|}, & |1 - \eta| \geq \frac{|(1+\lambda)^2 - 4t^2\lambda^2|}{4(1+2\lambda)t^2}. \end{cases}$$

Setting $\mu = n = 0, \lambda = 1$ and $q \rightarrow 1^-$ in Theorem 2.2, we have the following corollary.

Corollary 3.17 ([9]) Let $f(z)$ given by (1.1) be in the class $\mathcal{S}_\Sigma^*(t)$ and $\eta \in \mathcal{R}$. Then

$$|a_3 - \eta a_2^2| \leq \begin{cases} t, & |1 - \eta| \leq \frac{1}{8t^2}, \\ 8|1 - \eta|t^3, & |1 - \eta| \geq \frac{1}{8t^2}. \end{cases}$$

Setting $n = \mu = 1$ and $q \rightarrow 1^-$, the Theorem 2.2 reduces to the following corollary.

Corollary 3.18 Let $f(z)$ given by (1.1) be in the class $\mathcal{L}_\Sigma(\lambda, t)$ and $\eta \in \mathcal{R}$. Then

$$|a_3 - \eta a_2^2| \leq \begin{cases} \frac{2t}{3(1+2\lambda)}, & |1 - \eta| \leq \frac{|3(1+2\lambda)t^2 - (4t^2 - 1)(1+\lambda)^2|}{3(1+2\lambda)t^2}, \\ \frac{2|1-\eta|t^3}{|3(1+2\lambda)t^2 - (4t^2 - 1)(1+\lambda)^2|}, & |1 - \eta| \geq \frac{|3(1+2\lambda)t^2 - (4t^2 - 1)(1+\lambda)^2|}{3(1+2\lambda)t^2}. \end{cases}$$

Setting $n = \mu = \lambda = 1$ and $q \rightarrow 1^-$, the Theorem 2.2 reduces to the following corollary.

Corollary 3.19 Let $f(z)$ given by (1.1) be in the class $\mathcal{L}_\Sigma(t)$ and $\eta \in \mathcal{R}$. Then

$$|a_3 - \eta a_2^2| \leq \begin{cases} \frac{2t}{9}, & |1 - \eta| \leq \frac{|-7t^2 + 4|}{9t^2}, \\ \frac{2|1-\eta|t^3}{|-7t^2 + 4|}, & |1 - \eta| \geq \frac{|-7t^2 + 4|}{9t^2}. \end{cases}$$

Setting $n = \lambda = 1, \mu = 0$ and $q \rightarrow 1^-$, the Theorem 2.2 reduces to the following corollary.

Corollary 3.20 For $t \in (\frac{\sqrt{2}}{2}, 1)$, let $f(z)$ given by (1.1) be in the class $\mathcal{K}_\Sigma(t)$ and $\eta \in \mathcal{R}$. Then

$$|a_3 - \eta a_2^2| \leq \begin{cases} \frac{t}{3}, & |1 - \eta| \leq \frac{2t^2 - 1}{6t^2}, \\ \frac{2|1-\eta|t^3}{2t^2 - 1}, & |1 - \eta| \geq \frac{2t^2 - 1}{6t^2}. \end{cases}$$

Setting $n = 0$ and $q \rightarrow 1^-$ in Theorem 2.2, we have the following corollary.

Corollary 3.21 ([12]) Let $f(z)$ given by (1.1) be in the class $\mathcal{B}_\Sigma^\mu(\lambda, t)$ and $\eta \in \mathcal{R}$. Then

$$|a_3 - \eta a_2^2| \leq \begin{cases} \frac{2t}{\mu + 2\lambda}, & |1 - \eta| \leq \frac{|(\mu + \lambda)^2 - 2[2(\lambda + \mu)^2 - (2\lambda + \mu)(\mu + 1)]t^2|}{4(\mu + 2\lambda)t^2}, \\ \frac{8|1-\eta|t^3}{|(\mu + \lambda)^2 - 2t^2[2(\lambda + \mu)^2 - (\mu + 2\lambda)(\mu + 1)]|}, & |1 - \eta| \geq \frac{|(\mu + \lambda)^2 - 2[2(\lambda + \mu)^2 - (2\lambda + \mu)(\mu + 1)]t^2|}{4(\mu + 2\lambda)t^2}. \end{cases}$$

Acknowledgements We thank the referees for their time and comments.

References

- [1] M. LEWIN. *On a coefficient problem for bi-univalent functions*. Proc. Amer. Math Soc., 1967, **18**(1): 63–68.
- [2] D. A. BRANNAN, J. G. CLUNIE. *Aspects of Contemporary Complex Analysis*. Academic Press, New York, 1980.
- [3] E. NETANYAHU. *The minimal distance of the image boundary from the origin and the second coefficient of a univalent function in $|z| < 1$* . Arch. Rational. Mech. Anal., 1969, **32**: 100–112.
- [4] P. N. KAMBLE, M. G. SHRIGAN. *Initial coefficient estimates for bi-univalent functions*. Far East Journal of Mathematical Sciences., 2018, **105**(2): 271–282.
- [5] N. MAGESH, J. YAMINI. *Fekete-Szegő problem and second Hankel determinant for a class of bi-univalent functions*. Tbilisi Math. J., 2018, **11**(1): 141–157.
- [6] H. ORHAN, N. MAGESH, V. K. BALAJI. *Second Hankel Determinant for certain class of bi-univalent functions defined by Chebyshev polynomials*. Asian European J. Math. 2019, **12**(1): 1–16.
- [7] Ş. ALTINKAYA, S. YALÇIN. *Estimates on coefficients of a general subclass of bi-univalent functions associated with symmetric q -derivative operator by means of the Chebyshev polynomials*. Asia Pacific Journal of Mathematics., 2017, **4**(2): 90–99.
- [8] S. BULUT, N. MAGESH, V. K. BALAJI. *Initial bounds for analytic and bi-univalent functions by means of Chebyshev polynomials*. J. Classical Ana., 2017, **11**(1): 83–89.
- [9] N. MAGESH, S. BULUT. *Chebyshev polynomial coefficient estimates for a class of analytic bi-univalent functions related to pseudo-starlike functions*. Afr. Mat., 2018, **29**: 203–209.
- [10] Ş. ALTINKAYA, S. YALÇIN. *On the Chebyshev polynomial coefficient problem of bi-Bazilevič function*. Commun Fac. Sci Univ. Ank Ser. A1., 2017, **66**: 289–296.

- [11] G. MURUGUSUNDARAMOORTHY, K. VIJAYA, H. Ö. GÜNEY, et al. *Certain subclasses of bi-univalent functions associated with the Chebyshev polynomials based on Hohlov operator*. Tbilisi Math. J., 2018, **11**(2): 153–166.
- [12] S. BULUT, N. MAGESH, C. ABIRAMI. *A comprehensive class of analytic bi-univalent functions by means of Chebyshev polynomials*. J. Fract. Calc. Appl., 2017, **8**(2): 32–39.
- [13] M. E. H. ISMAIL, E. MERKES, D. STYER. *A generalization of starlike functions*. Complex Variables Theory Appl., 1990, **14**: 77–84.
- [14] S. BULUT. *Certain subclasses of analytic and bi-univalent functions involving the q -derivative operator*. Commun. Fac. Sci. Univ. Ank. Sr. A1 Math. Stat., 2017, **66**(1): 108–114.
- [15] G. MURUGUSUNDARAMOORTHY, S. BULUT. *Bi-Bazilevič functions of complex order involving Ruscheweyh type q -difference operator*. Ann. Univ. Paedagog. Crac. Stud. Math., 2018, **17**: 5–15.
- [16] M. GOVINDARAJ, S. SIVASUBRAMANIAN. *On a class of analytic function related to conic domains involving q -calculus*. Anal. Math., 2017, **43**(3): 475–487.
- [17] E. H. DOHA. *The first and second kind Chebyshev coefficients of the moments of the general-order derivative of an infinitely differentiable function*. Int. J. of Comput. Math., 1994, **51**: 21–35.
- [18] J. C. MASON. *Chebyshev polynomial approximations for the L -membrane eigenvalue problem*. Siam J. Appl. Math., 1967, **15**: 172–186.
- [19] P. L. DUREN. *Univalent Functions*. Springer-Verlag, New York, 1983.